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CVIS 372 A-2K12

B.Com. VIth Semester Degree Examination
Commerce
Cost Accounting - (Elective - IT)

Paper - 6.7
Time : 3 Hours Maximum Marks : 80

Instructions to Candidates:

Figures to the right indicate full marks.
WORBDHY BAUDT wosried I, 3rY Fpwe roeorieb.
SECTION-A

Won - &
Answer any ten of the questions : 10 x2 =20
Sed B, T,BNNA 0u3D2D. |
3. What is cost unit ?
SURRT domderd ? w |
2. Howdo you value Abnormal gain?
ORIRT, ooyl Berl BIYFODHID ?
3.  What are the methods of costing ?
<32, Qrorod o P sSSP ?
4. How to improve P/v ratio ?
Rz /IR0 3,0 F,3R0 2EOH Bed ?
5.  What is Margin of safet; ?
U3 TOWE dorBedd ?
6. What are Non-cost items ?
Sy, ¥or wodnd wR3Y) ?
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10.

11.

12.

13.
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What is standard cost ?
QDFFRRT B2, 2000eDd ?
Why the budget is prepared ?
Swond 3, ¥ 303RDIBedd 7
What are the objectives of budgeting ?
Swonad g, 3aindI UUE?DQE#H% ?
Give the meaning of ABC System.
QW IP30d VP B8R R0.
What is cost driver ?

:.’Sz.gd 10T douded 7

Give the meaning of Kaizen costing.
3eon’ S INFObZIE U 3R HD.

SECTION-B
Pon-w
Answer any three of the following : | 3x5=15

desad e F,3ndn su3dD.

Prepare process account, abnormal loss/gain account from the following particulars

Materials introduced in to process — 5000 units @ Rs.4

Sundry materials Rs.5000
Labour Rs.8000
Overheads Rs.1600

. Normal loss 4% of input having scrape value at Rs.1=00 per unit the actual output is

600 units.

YRS IIVNPOT 35,8,00 203, LART, FA/woy WMV AGFBLO. I,8,001
sugres demhad 5,000 chedt B Ue. 4 dod.

Q30 IoBOND dn. 5,000

&ed de. 8,000

s0ReE [Suried de. 1,600.
ah
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3,8 S0 WOIEA (scrape) de. 1=00 B3S BeodE IR, T, JABNLT
I0BONY 3es@ -4:5&'33 a}’m erua;;:id 4,600 0beQestrieh.

14. Kiran transport company runs the following buses in the Gulbarga city limits for
' 30 days in the month.

10 buses of 40 passengers capacity

10 buses of 45 passengers capacity

On ana average each bus makes 10 trips a day covering a distance of 8 kms. In
each trip with 80% of seats occupied. Generally 5 buses are kept away from the
roads for repairs.

Calculate total passengers kilometers.
800 »OA mosodn 8 IUNS WRNYR), rhownes INTT M3adest IBadh 30
DEnd S0 LAaDHIL.

40 3,0Re8 PRFFD 10 WM.
45 &,00%e980 IR FT 10 wnied

3,308 30930 10 3o I,EBRHDIB. 3,3 I,0R0T BeC-8 &.oe.
33 3,0ne008 (Trip) Be. 80T Aetdritd P3FAIRAS. DIPRYTN 5 widried
Hodeh Cinvod B001 wmewnEs.

W), 3,0R6550 $e 20eTNYR) BombbBD.

15. The following figures are obtained from the accounts of “Star” Itd.

Year Sales in units Profit/Loss Rs.
2010 4000 5000 Loss
2011 6000 5000 Profit

The selling price per unit can be assumed to be Rs.20
Calculate (1) P/v ratio (ii)Fixed cost.

RO® AEHA3 2RINP0T SUNT ARbINYR) SdBabeRNS.

S 2,08 0odE, S YE Y
2010 4,000 5,000 ma
2011 6,000 5,000 e

T4 RIS JIR0ets 36 de. 20 20 PeIRERNT,
1) s, J,3wo (P/v ratio) (2) %8 333.;& o &RoWD.
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16. From the following information calculate the material quantity variance.

Standard Output 1000 units
Actual output 800 units
Standard quantity per unit 1Kg.

Actual quantity used 1000 Kgs.
Standard rate Rs.20 per Kg.
Actual rate : Rs.25per Kg.

8 39303 SRHLIAVOT FVIT I, AN JI|IIRY, FoBLAHWB.

IO RS 1000 o%edes* rieds
Jw ousEs 800 0%1pAE® e
38 et rDs B0 Zame 182 (lkg)
R 308 WIBBRTY 1000 $.28.ri%h
D3 oo 3,8 $.28.1 Ge. 20

3w B0 3,8 .3.1 de. 25

17.  Explain five objectives of activity based costing system
Be1[3E BP0 51, Arorod P30 DD LLHEBTIPR) AIOA0-

SECTION-C
Won-g

Answer any three of the following : 3x15=45
nHde Swed J,3ndn vugdad.

18. A manufacturer of Luna finds that in 2011, at cost of Rs.7,20,060 manufactured 175 Lunas,
which he sold for Rs.5400 each. The cost was made up of:-

Rs.
Materials 2,82,000
Direct wages 3,24,000
Factory overhead 48,600
Office overhead 65,460

For the next year, he estimately that :-
a  Each Luna will require materials of Rs.1600 and labour Rs.1800

b.  The factory overhead will be the same relation to wage as in the previous period.
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c. The office overhead percentage on factory cost will be the same as in the previous
year.
Prepare a statement showing the profit he would make per unit, if he reduces the
price of the Luna by Rs.200.

WY, QR ienial OV 2011 Uq. dwn. 7,20,060 sSz.gpqn 175 mmﬂ@ﬁl
300202, I,308R0th Qam, 0e. 5,400 rYod SROmE. 6wo Iun JBewss

&end.
an.
ATBOND 2,82,000
ded Bed 3,24,000
goaprdad £ (vIdRcT) 48,600
@IS Sy (vT0ReT) 65,460

Swodd JAF Irbend :SZ.SJRJJ oehSd ot voreEiowNd.

1) 3,308008 ool Bevorba 30BNY Ge. 1,600 D), 8O da.
1,800.

2) DaRFd SyR) Hodd BRI g Joworsy Be0RT.
3) ededd 3uz) LodI IAro Boerd IYR I InnIde Bacendy.

woth Sed wamT WSSaba de. 200 riva), FBD INB. INHHWES,
woth Qemd U3 Idows eeyded) 7.

(2T, womd 32330 TATBY, 20eD2D.)

19. Sri Prasad fleet Co, Ltd. has started transport business with a fleet of 10 taxies. The various
expenses incurred by the co., are given below:-

1) Cost of each taxi Rs. 75000

ii) Salary of Office staff Rs.1500 P.M. )
i1}  Salary of garage staff Rs.2000 P.M.

iv)  Rent of Garage Rs.1000 PM.

V) Drivers Salary per Taxi Rs.400 PM.

vi)  Road Tax and repairs per taxi Rs.2160 PA

vii)  Insurance premium @8% of cost P.A.

The life of a taxi estimated is 3,00,000 kms and at the end of which it is estimated to
be sold at Rs.15000. A taxi runs on an average 4000 Kms per month.
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Petrol consumption is 10Kms per litre costing Rs.20 per litre oil and other secondary

expenses amount to Rs.100 per 1000Kms
Calculate the cost of running a taxi per km.
if the hire charge 1s Rs.8 per Km, find out the profit Mr.Prasad may expect in the first

year of operation.
10 @R 8rideodn 8,¢ I, ®T Hets® FoIA Iidn’ O J3TTI®), T, CoPATRT.
030 DG Sy $¢RT03E.

1) 3,8 el WS de. 75000

i) e 2 0dad eI de. 1500 PM.
ii1) mddcm Ay odod Se3s dn. 2000 PM.
iv)  mdez oan ga. 1000 PM.
Vo 3,3 m50h esd Se3n d. 400 PM.

vi) O30 dBed B, 3tRsM  ©e.2160 PA
vii)  Date B0 - Sed 8% 3,3 IAF,
3,3 5,871 3,00,000 §.20¢. 3633 8om3Y. B03T Be. 15,0008 VBR) IRCWRT.
23,3 1,8 3,8 3orieh MIRFTON 4,000 $.20¢. LAIB. Ste cof WY I,3 Oetsorn
10 §.20¢. 360, cef B0 0. 20 Detso® A. o 3 B3V Doe rieh. 7,3 1,000 8.2ve.7
dr. 100.

sdee ek3o’ 2.;0[:51% mﬁiuam;sqwomm;s :Sa.;gai&somaoaoma. k39,3 WP BN B
8.20¢. 0TY TR. 8 6BV 8,6 3,0 et B0 IWUE v IP0O IFFBY

20T DIVBE CEZJESE% ?

Rs.
20.  Fixed overheads 1,80,000
Variable cost per unit 2
Selling price per unit 20
From the above information calculate
1) Break even point _
i1)  The turnover required to earn a profit of Rs.36000
ii1)  Ifthe company is earning a profit Rs.36000, express the margin of safety available
iv) :)(;vl i{atio
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dw. 1,80,000

wERHI F¥ I, cheds*d de. 2

SInoets S F,3 chwedes i de. 20
See,0d SRbIaOT FYATYHriv) s bBowD.

i) woeud - Jyv 3 H33003.

ii) dw. 36,000 RPIH) Fen Betords Snoets I, 350Dy oEorELERLD.

iii) SoTBAadwe Tn. 36,000 ey NPTV 8od tedebuEmE WUE3dad ¥os
&, S ea(margin of safety ) som&oBo0D.

iv) enyl/Snoets Se8odece (p/v Ratio)

21. Draw up a flexible budget for overhead expenses on the basis of the following data at 70%
80% and 90% capacity and determine the overhead rates.

At 80% capacity
Variable overheads Rs.
Indirect labour 72,000
Indirect Material 24,000
Semi-Variable overheads:
Power (30% fixed) 1,20,000
Repairs & maintenance (60% fixed) 12,000
Fixed overheads:
Depreciation 60,000
Rent a rates 18,000
Insurance 6,000
Sundry Expenses 60,000

Total Rs. 3,72,000

Estimated direct labour hours 2,48,000

8YNT In&3NYod Be.70%, 80% R, 90% WINGFE wBdecs IV
WESRVBHE Jword 53,3 3dRd10. Bt YHdecs Hi BO IGFOD.
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de. 80% GG

WRSDIHIRNWS. gde.neb
WBERCT a%zSJm)
OBORCT, BRd 72,000
Eﬁdﬂﬁ% A0B 24,000
03 WHRIHWBRNWS, eaadmeﬁﬂ
ﬁzﬁzp% : |
obhod, e HWI 3% (3¢30 40) 1,20,000
w3, SR AEDE B (3¢.60 30) 12,000
A0 tar—‘.:timei sSurisb
AT 60,000
e BN Torle Tond 18,000
DD 6,000
238¢ aswzp%b. 60,000
wid), dA. 3,72,000

WOy IR i 3,0 Froreh 2,48,000.

22. Compute i) Labour cost variance ( ii) Labour rate variance (iii) Labour Efficiency variance

' from the Tollowing data : - E—
Standard Time 3 hours per unit
Standard rate of wages Rs 12 per hour
Actual production 14,00 units
Actual Time taken 4000 hours
Actual wages Rs 56,000
1)8 D IYI:E. (2)3,HE0FTE  (3) 3, BIFab IR FoBLBOD.
ANRB I>oD &,3 odwededrt 3 sesnied.
R0 INHE Bd % ,3 3221 Gn.12.
gz ovI RS 1400 adebs® ried.
3rich &R 0B & Jabab 4000 soadrieh.
Jz 8Rd dn. 56,000.
000
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